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import numpy as np

N = int(le5 + 5)
a = np.zeros((N * 4, 3), dtype=int)

def bt(x, 1, r):

a[x][0] =1

a[x][1] = r

if (1 == r):
return

mid = int((1 + r) / 2)
bt(x * 2, 1, mid)
bt(x * 2 + 1, mid + 1, r)

def chg(x, pos ,k):
if (alx]J[0] == a[x][1]):
a[x][2] = k
return
# JriR1E
mid = int(Ca[x][0] + a[x][1]) / 2)
if (pos <= mid):
chg(x * 2, pos, k)
else:
chg(x * 2 + 1, pos, k)
#[m e R
a[x][2] = minCa[x * 2][2], a[x * 2 + 1]1[2]1)

def que(x, 1, r):
if (a[x][0] == 1) and (a[x][1] == r):
return a[x][2]
mid = int((a[x][0] + a[x][1]) / 2)
if (r <= mid):
return que(x*2, 1, r)
elif (mid < 1):
return que(x*2+1, 1, r)
else:
return min(que(x*2, 1, mid), que(x*2+1, mid+1l, r))

n = intCinput("n=?"))
m = intCinput("m=?"))
bt(1l, 1, n)

x = list(map(int, input("nZEK=?(LLES2)") . split(', "))
for i in range(1l, n+l):
chg(1, i, x[i-11);

ans = []
while (m > 0):
m-=1
k, x, y = list(map(int, input("k, x, y=?(LLZ54FE)") .split(",")))
if (k == 1):
ans.append(que(l, x, y))
if (k == 2):
chg(1, x, y)

print( .join(Tist(map(str, ans))))
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